Windkessel model:
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Q = Flow rate of fluid
Ps = Additional pressure induced due to Q
I want to simulate this model in COMSOL. In study 1, I applied pressure at the domain so that it expands (can refer to results in attached model). In study 2, I want to use the solution 1 as initial condition for study 2. In addition to that, the material stiffness (manipulated by Ta) increases with time, so as the domain will contract. As the domain 2 contracts, the mechanism of contraction will be controlled by Windkessel model described above. Q is the fluid flow rate, which is equal to rate of change of volume of domain 2 (Q=-dV/dt). Ps is the additional pressure induced which in turn applied at inner surface of domain 1 (Boundary Load pressure=Pr+Ps).
I don’t know which physics should I use for better simulation of windkessel model described above. In the attached model, I used Global ODEs and DAEs physics to represent the condition but failed.
[bookmark: _GoBack]Hope can help me on this. Thanks
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Consider the following simplified model of the descending
thoracic and abdominal aorta. Solve the model in COMSOL and
plot total blood flow against time for an input half-sine
pressure pulse (in mmHg) of:
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assume the viscosity coefficient of blood is 4 = 3.5 mPa.s
and density p - 1000 kg/m?. The blood is initially at rest.
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- Windkessel models of the arterial system take into
account not only flow resistance, but also arterial
compliance.





